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‘ Name: Chaopran Lin

Midterm

1h30, closed-book. If you are a non-native speaker of English and need a grammatical jutgement on 2

sentence, write down the sentence on paper and raise your hand.

I. Morphology
. 20
1. Michoacan Aztec (20 pts)
nokali ‘my house’ kali *house’
mokali ‘your house’ mopelomes ‘your dogs’
nokwahmili ‘my cornfield’ nopelo ‘my dog’
kalimes ‘houses’ nokwahmilires ‘my cornfielicks’
mopelo ‘your dog’
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b. List the morphemes present in the dataset
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Give the morphological rules associated with the affixes you identified.
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e. What is the word for ‘your cornfields'? =
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2. English (14 pts) @

Consider the word agreements
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a. Give the rules you need to derive this wor .
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b. What type(s) of morphological rules are they?
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¢. Find words of English that justify your rules
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d. Give the derivation of agreements using your rules.
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e. Draw its morphological tree.
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1. Constituency (10 pts) @

In the following sentences, is the underlined part a constituent? Justify your BIBWEL.

Il. Syntax

a. Alight flashed on the phone.
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b. Rachel thought that Peter was away.
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c. Rumi read a boring book yesterday morning. "flcouﬁ[q' that
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k . cturally ambiguous?
5 2. Amblgurﬁes (20 pts) @ us7 WhICh one i5 ! tr;;nten
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Explain your answers, and draw the syn

a. Felix hit the man with a suitcase.
b. I like working in Ben's company. {
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3. Coreference (15 pts) @ j,,w{; w gv{, J/ wlerce

Can the underlined parts in the following sentences corefer? Why?
a. Sara said that she saw a picture of herself.
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b. Sara said that she saw a picture of herself.
( A
)/Q’ Mﬁ/ﬂf/ 5 Al 2 L‘ﬁ"‘ Bﬁ 9“ a;jf (e é'i*a/a"fﬁ'\ /4 " r¢i -2 ’i;# i
p#»((r/a ///é/ L slle Y dﬁtw[cw‘l‘ Sneg S i A-J;,_.;f{- ___,(‘;.,A"' A
/Lp/JC’/f’Cﬁ‘/t f@“erz’g che! | o R T T
el Sarasaldthgtsjhesawaplcture ofhersel. :
7 ‘WJ@@F ' coitgt dip Sam .w’wc T G, Maf)w ke
¢l
l OJ,I_,({_( &f t&dﬂ’/‘u"f 1”6&7 &Zt # /’ﬂ"l}‘("fﬂ?‘ /wljt ("{Qj‘ i
a b‘7 g“" nz, ’ﬂ'fftj"“ 5. '“f‘:-;{?'tw".”.

¥
TV Ny

.".‘ -
hoe ™

x g ff‘.‘

&, 5@ wLLIC[‘M&}P:@m’W Con »efel 3«’; an)év p (m{
2 ML & fngh

Scanned by CamScanner



3. Drawing trees (21 pts) 6

Draw the syntactic trees for the following sentences.

a. What did Heather

seein the park?
b. Paula will not dance
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